Pokoj
14,97m’

Pokaj dzienny
29,72m? D

040 S

oY) o
a 5,49m 2
Muchenny

e ) =
| Pokdj
| 8,48m?
Budynek A
Mieszkanie A2

Powierzchnia uzytkowa

parter 42,69 m?
pietro 51,71 m2
razem 94,40 m2

Pokoj
13,28m’

Budynek A
Mieszkanie A2

J

Pietro

Parter

Osiedle NOWA Rokietnica



AutoCAD SHX Text
29,72m²

AutoCAD SHX Text
4,33m²

AutoCAD SHX Text
3,47m²

AutoCAD SHX Text
15,4m²

AutoCAD SHX Text
6,2m2

AutoCAD SHX Text
P

AutoCAD SHX Text
9,49m²

AutoCAD SHX Text
8,48m²

AutoCAD SHX Text
5,49m²

AutoCAD SHX Text
14,97m²

AutoCAD SHX Text
13,28m²


	Arkusze i widoki
	Model


